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CC Algebra

Cumulative Review #4.2
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1.  What is the simplified form of
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A.  4
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B.  10
[image: image3.wmf]14



C.  2
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D.  2
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1.  ______________

2.  Which answer choice shows 2x – y = z correctly solved for y? 
A.  y = 2x + z 
B.  y = 2x – z 
C.  y = -2z + z 
D.  y = -2x – z 










2. ______________

3.  Factor the following expression:  


7r2 – 9r – 10










3.  ______________

4.  Alex bought 6 notebooks and 2 binders for $23.52.  Cassie bought 3 notebooks and 4 binders for $25.53.  What was the cost of one notebook?










4.  _______________
5.  The domain of the given function has a natural restriction.  Find the largest domain possible for the function 
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5.  _______________

Explain how you found your domain value 

____________________________________________________________________________
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